Conforms to European Safety Standards EN 1729-1,2:2015

Please read this manual carefully before using the product. Please follow all instructions in this manual.
KEEP THE MANUAL FOR FUTURE REFERENCE!

Bitte lesen Sie vor Gebrauch des Produktes die Bedienungsanleitung sorgfaltig durch.
WICHTIG FUR SPATERES NACHSCHLAGEN AUFBEWAHREN!

Lees deze handleiding voor gebruik van het product. Volg alle instructies in deze handleiding.
BEWAAR DE HANDLEIDING VOOR DE GEHELE LEVENSDUUR VAN HET PRODUCT.

S'il vous plait lire ce manuel avant L'utilisation du produit. S'il vous plait suivre toutes les instructions de ce manuel.
GARDEZ LES INSTRUCTIONS POUR LUTILISATION DU PRODUIT!

Por favor, lea este manual cuidadosamente antes de la operacion del producto. Por favor, siga todas las instrucciones de este manual.
MANTENGA ESTE MANUAL DURANTE TODO EL PERIODO DE EXPLOTACION DEL PRODUCTO!

Legga attentamente questo manuale prima di usare il prodotto. Per favore, segua tutte le indicazioni del manuale.
CONSERVI IL MANUALE DURANTE TUTTO IL PERIODO DELLESPLOTAZIONE DEL PRODOTTO!

Leia atentamente este manual antes de utilizar o produto. Siga as instrugdes.
CONSERVE O MANUAL DURANTE O TEMPO DE VIDA DO PRODUTO!

BHMMaTenbHO NpoyTHTE 3TO PYKOBOACTBO Nepes 3Kcnayatauuei nsaenus. NMoxanyicra, cneayite BCceM yKasaHUAM
naHHoro pykosoactea. COXPAHAMTE PYKOBOLCTBO B TEYEHWUE BCEFO CPOKA SKCMJTYATALMM U3LENUA!

060000600

ghhass JlabW ol 9‘o|
JJl3s (58 wloded| gro> gl o CMDJ R -*lkuw ‘69 kg —\J ; '| LJ0 9 Y

[ S0

;.\ 115-185
B cm

ap
POLINI

SINCE 1941

polini-kids.de polini-rus.ru




POLINI KIDS City D2

% Sold separately
Separat erhdltlich
Apart verkrijgbaar
Vendu séparément
Se venden por separado
Venduto separatamente
Vendido separadamente
MpuoGpeTaetcs otaenbHO

Josio Jsuin £l

Number on the picture
Nummer in der Zeichnung
Nummer op figuur
Nombre a la figure
Numero en el dibujo
Il numero alla figura
Numero na figura
Homep Ha pucyHke

Number of parts in the product
Stiickzahl der Teile im Produkt
Aantal componenten in het product
Nombre des détails du produit
Cantidad de elementos del producto
La quantita dei dettagli nel prodotto
Quantidade de pecas
Konuuectso petaneii B uspenmn

Parts description
Bezeichnung
Onderdelen namen

Names des piéces
Nombre de los elementos
La nominazione dei dettagli

Designagao das pecas
HaumeHoBanue petanei

ol sle p8,Jl 2wy s>Vl &S
Tabletop Plateau Quadro de mesa
1 Tischplatte Tablero Cronewnunua
Tafelblad Piano del tavolo &gl adaw
Foot Pied Perna
2 Ful3 Pata Hoxka
Been Piede Sl
Connector Lien Barra de conexao
1 Verbindung Barra de conexion Casizka
Band Legamento bl
Clamp Fixateur Bragadeira de parafuso
2 Klemme Abrazadera de perno Dukcatop
Klem Fissatore ool
Set of fittings Kit d'accessoires Kit de ferragens
1 Satz Beschldge Conjunto de los accesorios KomnnekT ¢hypHUTYpbI
Hang-en-sluitwerk IL completo della fornitura auaso al;

Vg

4x

Screw M8 x 20
Gewindeschraube M8 x 20
Schroef M8 x 20

Vis M8 x 20

Tornillo M8 x 20

Vite M8 x 20

Parafuso M8 x 20

Bunt M8 x 20

M8 x 20 (sl

Screw M6 x 40
Gewindeschraube M6 x 40
Schroef M6 x 40

Screw M6 x 30

Schroef M6 x 30

Vis M6 x 40 Vis M6 x 30
Tornillo M6 x 40 Tornillo M6 x 30
Vite M6 x 40 Vite M6 x 30
Parafuso M6 x 40 Parafuso M6 x 30
BunT M6 x 40 BunT M6 X 30

M6 x 40 (sl M6 x 30 (sl

Gewindeschraube M6 x 30

@ @ D
& &

Screw M6 x 12
Gewindeschraube M6 x 12
Schroef M6 x 12

Vis M6 x 12

Tornillo M6 x 12

Vite M6 x 12

Parafuso M6 x 12

BunT M6 x 12

M6 x 12 (seyull

00y

oo

)

4 x

Shim A6
Unterlegscheibe A6
Ring A6

Rondelle A6
Arandela A6
Rondella A6
Arruela A6

Waii6a A6

A6 pis

)

Lifting mechanism
Hebevorrichtung
Hefmechanisme
Mécanisme de levage
Mecanismo de elevacion

Il meccanismo di
sollevamento
Mecanismo de elevacao
MoabeMHbIi MexaHU3M
&9 adl










Left/right extension part without support,
for children's desk Polini kids City D2

Anbauplatte links / rechts ohne Stiitzfuf? fiir
hohenverstellbaren Kinderschreibtisch Polini kids City D2

@ Montageplaat links / rechts zonder support voet

voor in hoogte verstelbare bureau Polini kids City D2

Partie d'extension gauche / droite sans support,
pour pupitre d'enfant Polini kids City D2

@ Extension izquierda / derecha sin soporte,
para mesa para nifios Polini kids City D2

Sinistra/destra estensione part senza supporto
per scrivania Polini kids City D2

Esquerda/direita com extensao de parte,sem o apoio,
paraas criancas da secretaria Polini kids City D2

MpucraBka 6oKkoBas Ang «pactyuwieit» napTbl-
TpaHcdopmepa Polini kids City D2

@1 Polini kids City D2 &3> slaiol aoe/sluans
iso Jlabi

1400

Left/right extension part without support,
for children's desk Polini kids City D2

Anbauplatte links / rechts ohne Stiitzfuf? fiir
hohenverstellbaren Kinderschreibtisch Polini kids City D2

@ Montageplaat links / rechts zonder support voet

voor in hoogte verstelbare bureau Polini kids City D2

Partie d'extension gauche / droite sans support,
pour pupitre d'enfant Polini kids City D2

@ Extension izquierda / derecha sin soporte,
para mesa para nifios Polini kids City D2

Sinistra/destra estensione part senza supporto
per scrivania Polini kids City D2

Esquerda/direita com extensao de parte,sem o apoio,
paraas criancas da secretaria Polini kids City D2

MpucraBka 6okoBas Ang «pactyuwieit» napTbl-
TpaHcdopmepa Polini kids City D2

@1 Polini kids City D2 &3> slaiol aoe/sluns
iso JlabiU

1400

Screw M6 x 40 Vite M6 x 40

Gewindeschraube M6 x 40  Parafuso M6 x 40
3 X Schroef M6 x 40 BuHT M6 x 40

Vis M6 x 40 M6 x 40 (sl

Tornillo M6 x 40

Screw M6 x 40 Vite M6 x 40

Gewindeschraube M6 x 40  Parafuso M6 x 40
3 X Schroef M6 x 40 BuHT M6 x 40

Vis M6 x 40 M6 x 40 (sl

Tornillo M6 x 40




